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Math 20 Exam 1
1.1-2.2, Appendix D
Name  ______________________________________
Part 1 – No calculators

Always show enough work to show how you arrived at your answer.  If work is not shown on, you may not earn full credit for the problem.  Work may include graphs, computations, and/or reasoning.  It should be organized so that the steps can be followed in order, from start to finish.
1. 
Give the exact value for each.  (No work required.)
(2 points each)



[image: image1.wmf]sin(0)

= ____________

[image: image2.wmf]cos()

p

= ____________



[image: image3.wmf]sin(/2)

p

= ____________

[image: image4.wmf]cos(/3)

p

= ____________



[image: image5.wmf]tan(/6)
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= ____________

[image: image6.wmf]tan(2/3)
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= ____________

2.
Find the domain of 
[image: image7.wmf]2
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.  Use either set notation or interval notation to write your answer. 
(5 pts.)

3.
Find the remaining trigonometric ratios if 
[image: image8.wmf]3
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 and 
[image: image9.wmf]0/2
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. 
(5 pts.)
4. 
Give the equation of the function whose graph is found by shifting the graph of 
[image: image10.wmf]x
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=

  3 units downward and 1 unit to the left.
(4 pts.)
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Math 20 Exam 1
Fall 2004 
Name  ______________________________________________

Part 2 – Calculators allowed.

Always show enough work to show how you arrived at your answer.  If work is not shown on, you may not earn full credit for the problem.  Work may include graphs, computations, and/or reasoning.  It should be organized so that the steps can be followed in order, from start to finish.
5. 
Give an example of each of the following types of functions. 
(6 pts.)


a)  
Rational function:  _________________

b)  
Polynomial function:  _________________


c)  
Transcendental function:  __________________

6. 
Suppose the graph of y = 
[image: image11.wmf]()

fx

 contains the point (2, 1).
(6 pts.)


a)  
If f  is an even function, what other point must be on the graph of f ?  ___________


b)  
If f  is an odd function, what other point must be on the graph of f ?  ___________


c)  
If f has an inverse, what point must be on the graph of 
[image: image12.wmf]1
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7.
Suppose 

, g is given by the chart and h is given by the graph.  Find each of the indicated values.
(3 points each)
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a)  ( f  + g)(2) =  ______________
b)  (h

g)((1) =  ______________

c)  ( f 

h

g)(0) =  ______________


d)  

 =  ______________
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8.
Use algebra to find the solution set for 
[image: image13.wmf]22
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.  Show the steps!
(8 pts)
9.
Use the graph shown to estimate the following.
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(14 pts)


a
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b.
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c.
slope of tangent at 
[image: image17.wmf]4
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 ________


d.
Find the range of f. ___________________


e.
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 = _________


f.
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 = _________


g.
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10. 
Find the largest real solution of the following equation.  State your answer rounded to four decimal places.
(6 pts.)
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solution:  _____________________
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11. 
Consider the function 
[image: image22.wmf]4
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.  
(8 pts.)


a)  
Graph this function with the x-range from −10 to 10.  Adjust the y-range to produce an appropriate viewing window.  Describe the y-range for the window..


y-max =  _______________  



y-min =  _______________  


b)  
Does this function have an inverse?  Explain your answer.  (DO NOT try to calculate an inverse.)
12. 
Evaluate 
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 at x = 1.1, 1.01, 1.001.  Use the results to guess 
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1

1

lim

1

®

-

-

x

x

x

.  Round off your answers to five decimal places.
(8 pts.)


f (1.1) =  ________________________
f (1.01) =  ________________________

f (1.001) =  ________________________

[image: image25.wmf]3
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 =  ________________________
13. 
Suppose an object is shot upward on the face of the moon in such a way that its height in meters after t seconds is given by 
[image: image26.wmf]2

()580.83
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.  Find the average velocity over the given time intervals.  Round off your answers to three decimal places. 
(6 pts.)


a)  
t= 1 to t = 1.1


b)
t = 1 to t = 1.01
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